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Method Types of Questions
Cor?trent Question No. Objective 8?2(;” Ans(\év)er Essay | Total
Q1 (A - 2(1) -
c EB; 626; - 8(7)
ontent QZ A 4(4 .
i O 7(15)*
(B) S 3(1)
Q3 (A - 6(3) -
Method (B) - - 6(2) - 12(5)
Q4 82 | 8@
' ~ o [ aayr | oaay
ZOREOE AR Sk
Note:-

1. Figure shows in the bracket indicates the No. of questions and figure out of the
bracket indicates the marks.
2. * it shows optional No. of questions and marks.

Question based Marks Allotted. Objective based Marks Allotted.
Types of Questions. | Marks Objectives Marks
10 13
Objective Type 17 Knowledge
Short-Answer Type Understanding 10
Essay Type 08 Application / Skills 12
Total 35 Total 35
Essay 35%
Average - 35%
Difficult _ 3%
100%

Unit wise Marks Allotted.

Unit Marks
Unit-1 03
Unit - 2
Unit - 3 06
Unit—4

05
06
Total 20

Total Marks Distribution

Method - 20
Content - 15
35 Marks



Format of Question Paper
Course — 3 [B] English (Std — 3 to 8)
Time : (Method — 20, Content — 15) Total Marks — 35

Q.- 1[A] Read the following stanza of rhyme / poem and answer the questions
given below it. - [02]
Std. — (5) (Semi | & 1I) Q.-1,2

[B] Read the following paragraphs and answer the questions given below it.

*Std.-6 Q.-3,4 - [02]
*Std.-7 Q.-5,6 - [02]
*Std.-8 Q.-7,8 - [02]

Q.2 [A] Fillin the blanks by using instructions given in the bracket.
Q.-9to 12 (Grammar based) - [04]
[B] Complete the following dialogues using the clues given below it.
Q.-13 - [03]
OR

[B]  Study the following text and answer the questions given below it.

Q.—-3[A] Answer the following questions in 4 to 6 sentences each. - [06]
Q.—-14to 16

[B]  Answer the following questions in 7 to 9 sentences each. - [06]
Q.—17t0 18

Q.—-4 Answer the following questions in detail. - [08]

Q.—19t020—-o0r-20



General Instructions : AlMlel YAUallll

1) Usl 1 (A) Hi Std: 5 (Semi — | & I1) Higll 1€ Ul 3}s Rhyme / Poem Reading

Comprehension based 3l ygao{l 233,

AR Ys 1 (B) Ui Std : 6 to 8 Hiell $A 3 Paragraphs Reading Comprehending based
AUl BHU 1 — 1908t 2 Ysl Yool — BHL A — 6 Hiell 1, A -7 1iedll 1, v . - 8

Higl 1 Paragraph ygcilall 289

2) U8l (2 A) Functional based 2%9\l. %sli English Textbook Std : 3 to 8 oli Functions o
LAletHl Acll BU3, Articles, Verb Forms, Prepositions, Conjunctions o iso{l Acllell
34l
U4l (2 B) A Dialogue, completion based 2&3\. ®Hi English Textbook Std : 3 to 8 Hi&ll
sl8uRL As Dialogue HS| s,

gl
Unseen U@L ygdl sl

Ygl — 3 el Ysl — 4 A English Method module based 283l 34l 112 WA} Type of questions,
Unit wise, Objective wise allotted questions ol tuletHi AW{L Yslloll :uatl s,



Format of Question Paper [New Course]
Course — 3 [B] (English Content and Method) 2i3% ([AN2ldxd ua ugldauzt
Time : (Method — 20, Content — 15) Total Marks — 35

Que.l1 (A) Read the following stanza of the poem and answer the questions given
below it. [2]

The doctor is in the clinic.
The judge is in the court.
The clerk is in the cabin.
Talking and typing notes.
The milkman is in the yard.
The shepherd is with the herd.
The flute player is on the hill playing it for long.

(1) Where is the milkman?

(2) What is the clerk doing?

(B) Read the following paragraph and answer the questions given below it. [2]
A sparrow and a parrot were good friends. Everyday they talked
with each other. But the parrot lived in a cage in Parul’s house.
(3) Who were good friends?
(4) Where did the parrot live?
Read the following paragraph and answer the questions given below it.  [2]
We live a confortable life because people work for one another.
The farmer grows grains and vegetables for all.
(5) How do we live?
(6) What does farmer grow?
Read the following paragraph and answer the questions given below it.  [2]
Vinu climbed up a tree. He sat on a branch. An old man saw the boy.
He fell down and broke his leg.
(7) Where did Vinu sit?
(8) What did an oldman see?

Que.2 (A) Fill in the blanks by using instructions given in the bracket. [4]
(9) We (play) cricket — yesterday. (use proper verb form)
(10) Midas was sleeping his bed. (use proper preposition)
(11) Rahul is clever honest (use proper conjunction)
(12) | saw accident near the hospital (use proper article)
(B) (13) Complete the following dialogues using the clues given below it.  [3]
Nayan X Mummy, where have you kept my socks?
Mummy
Nayan : And, where have you ?
Mummy : In your drawer, where else?
Nayan : | can’t find my kites!
Mummy : I and put them in the store room.

[put my colourbox, have packed, In your cupboard, am packing] OR



(13) Study the following text- and answer the questions given below it.

Manufactured by : Rosery Industries, Sundarpur, Gujarat.

CHANDNI SANDAL SOAP
Net — weight when packed : 100 grams
Max. Retail Price : Rs. 12.75

Packed : June 2013

Questions:-
1.  Whatis the weight of soap?
2.  Where is Rosary industries located?
3. How much money will you pay to buy this soap?
Que.3 (A) Answer the following questions in short. [6]
(14) Which activity will you use to create students vocabulary? Explain with
example.
(oealsloell gls W @QawelA A 58 ygRal se? G.el. AU
yuHesal.)
(15) Explain structural approach with example.
(RUAL HUUB . W(@21H G.el. AR UML)
(16) What is the difference between Intensive and Extensive reading?
(Aelot AUt U (AAN cllUet cRoll dgleld g B?)
(B) Answer the following questions in detail. [6]
(17) What is three language formulas?
(Blewdl Yo 9 B2 AxesAl)
(18) Arti Shah writes a letter to her friend to invite in her birthday party.
(AHosell)
Que.4 Answer the following questions in detail. [8]
(19) How does the Bilingual method of teaching English differ from ‘Direct —
method’ of teaching? Explain.
(Yetet utfaell [Gewst utuld s¢8 a el ud 82 ddsdl.)
(20) Prepare a project — according to any authentic material.
(SlSURL A s HRIAAA MR A WBse d2AR 53.)
OR
(20) How can you use ‘Alphabetic Method’ and ‘Phonic Method’ for teaching

reading?
(clést 2llwetall 12 Houark Ut ua ‘el ugld’ ol Gullol di 3l

JGERR)



